o
=

S

LINCS-

(=)

=St (LINCH)

bl Ay F BFLE o FAHEEA

=

S

k=Y

11

s
o A7|7k 2020 10¥ 11¥€(¥) 23:59 71A]

o Zrd A} 20208 d = LINC+ S-AAMY

HAO-StO|EHI 7% 4t

rsniElict 202049 AR

——
o

[

L) 23K

2212l A (http://career.asc.ac.kr)

1

k)
gl

YA 2HS F

)

x

=18

2 - @AE|

ir

JHet - Q| nt

- @9

2
—

RO
oll

Ok

H| 1

L &

Ho

K
Ho

olo

Y

<0

9" 142(8)

)

9 14% (&) ~ 108 11Y(

108 262(E)

AL ol et HEE = ASHEL

108 262(&) ~ 108 30¢(3®)

st

k=3

-

K

r
Ho

™
Al

Al &

IH

L ct.

)

=

ol
AA

A
ne

=
=

of wat Hs

|

=

o

[

CH



http://career.asc.ac.kr

LINCS-

=2
(=

7

|

AL
o

28]

11

o FHIQH 0| =2|H0|1 LHIT}?

%

ol
=

shp

=
o

ZOfLt 7ol of= F& Mot 7%

ujn
o
0/0

Lo

~NO

s

o Lj&0]|

A = UAs7k

gLt JqE=71

Z0| # &

I

PN
o

1B

o)l
<A

St
=1,

15
20

30

=
(L

7t 4
Kol

Al
o

27| 0f-BLO[E| 2 7|4t A

——
o

[

L) AR

sl
A

fud

A

S TAH3)

‘J:r

LINC+

T3Sttt LINC+ Alg e 74




